Geometry 
Chapter 1 – Essentials of Geometry
Name:
Multiple Choice 
(1 point each)
The following 3 problems refer to the diagram of Plane S to the right.
1. Name three points that are collinear. 
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m, E, C
(b) A, E, C
(c) A, E, B
(d) D, E, S
2. Which of the following are opposite rays?
(a) 
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3. What is another name for (CEB?

(a) (E

(b) CEB

(c) (CAB

(d) (BEC

The following 2 problems refer to the diagram to the right.
4. Name a pair of vertical angles.
(a) (1

(b) (2 & (4

(c) (1 & (2

(d) (2 & (3

5. Name a linear pair.
(a) (1

(b) (2 & (4

(c) (1 & (2

(d) (1 & (3
Short Answer

6. Find BC. 
(2 points)
7. Suppose HQ = x + 16, QK = 5x + 10, and HK = 56.  
(6 points)
(a) Write an equation for this problem.

(b) Solve the equation for x.

(c) Find the lengths of HQ and QK.

8. Suppose NM = 5x – 10, MP = 2x + 17, and M bisects 
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.
(6 points)
(a) Write an equation for this problem.

(b) Solve the equation for x.

(c) Find the length of NM and MP.

9. Use the distance formula to find the lengths between the following points.
(4 points)
(a) (2, 4) & (14, 20)

(b) (7, –3) & (12, 9)

10. Use the midpoint formula to find the midpoint between the following points.
(4 points)
(a) (3, –2) & (9, –6)

(b) (–1, 4) & (3, 8)

11. The midpoint of segment PQ has coordinates (8, 6).  The endpoint P has coordinates (-1, 4).  Find the coordinates of the other endpoint Q.
(4 points)
12. Given m(SQP = 70(, m(SQR = (2x +8)(, and m(RQP = (9x – 4)(.
(a) Write an equation for this problem.

(b) Solve the equation for x.

(c) What is m(RQP?

13. The measure of an angle is 38(.  What is the measure of its complement?
(2 points)
14. The measure of an angle is 110°.
(4 points)
(a) Is this an acute, right, or obtuse angle?

(b) What is the measure of its supplement?

15. Label each of the following as equilateral, equiangular, regular, just a polygon, or not even a polygon.
(6 points)

16. 3x + 18 and 5x – 42 represent two sides of a regular pentagon shown to the right.
(6 points)
(a) Write an equation for this problem.


(b) Solve the equation for x.


(c) What is the length of one of the sides?

17. My yard is 30 ft wide and 125 ft long.
(4 points)
(a) What is the area?

(b) What is the perimeter?


18. What is the exact area of a 10 inch pizza? 
(4 points)
19. The large Sycamore tree in my backyard has a circumference of 46 inches.  What is the radius of this tree? 
(4 points)

20. Refer to triangle ABC. 
(4 points)
(a) What is the perimeter?

(b) What is the area?

21. Simplify each radical. Write the exact answer.

(a)  
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(b) 
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(c) 
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22. Find the missing sides of the right triangles. Write the exact answer.

(a)

(b)

(c) 


A





B





C





D





E





S





m





n





1


4          2


3





A





B





C





32





19





H





Q





K





56





x + 16





5x + 10





N





M





P





2x + 17





5x – 10





S





R





P





Q





(2x + 8)(





(9x – 4)(





3x + 18





5x – 42





10 in





11 cm





12 cm





20 cm





5 cm





13 cm





A





B





C





15 cm





9 cm





10 ft





10 ft





20 in





10 in








Geometry
1
Ault Chapter 1

_1315226596.unknown

_1440390540.unknown

_1440391136.unknown

_1440391150.unknown

_1440390580.unknown

_1315226597.unknown

_1315226594.unknown

_1315226595.unknown

_1315226593.unknown

